Question Scheme Marks AOs
3(a) v=3t—2t*+14 and differentiate M1 | 3.la
a= (;—\{ =3-4t or (7-2t)—2(t+2) using product rule Al 1.1b
3—4t =0 and solve for t M1 1.1b
3
t=— oe Al 1.1b
4
(4)
3(b) Solve problem using v=0 to find a value of t [t = 9 M1 3.1a
v =3t—2t* +14 and integrate M1 | 1.1b
2 3
s=3t——2i+14t Al 1.1b
2 3
Substitute t :g into their s expression (MO if using suvat) M1 1.1b
s= 931 = 38E =38.79166..(m) Accept 39 or better Al 1.1b
24 24
()
(9 marks)
Notes:
(@) | M1 | Multiply out and attempt to differentiate, with at least one power decreasing
Al | Correct expression
M1 | Equate their a to 0 and solve for t
Al cao
(b) | M1 | Usesv =0 to obtain a value of t
M1 | Attempt to integrate, with at least one power increasing
Al | Correct expression
M1 Substitute in their value of t ,which must have come from using v = 0, into their s (must
have integrated)
Al | 39 or better




